i 4 -

=
=iz
;

) 4E =

ot

FAEEA

BN EEANESE

BOYO SOCIAL WELFARE FOUNDATION

R=-*% Y4108 % 037 18 p ~03 % 22 )

\'»lo\'a‘:

RIET G - B4 %e 200 ¢ dod B x phEEAES 30 |y phEEAgE

=5 fAgaiik o

I Ll = A

(1) %= 352 (+,4)
3 (2) %= 37— 4)

(3) %2 3:2(-)

5

A(5-3)

BTG F - BB %', ¢ w B I x SRS 20 Ty phiEE

1 £ BgEAE -

AZ—- 538 KT ALY
(1) X*=3x—=5+A=2x>+7x*-2x+3
(2) 2 +X+2—-A=-5x"+3x-7
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(x> =3Xx=5)+ A=(2x* + 7x* = 2x +3)

A=(2x> +7x* —2x+3) - (x* —=3x-5)
A=2x3+7x* —2Xx+3—x*+3x+5
A=2x>+7x* = x> —2X+3x+3+5
A=2x*+(T7-D)x* + (-2 +3)x+(3+5)

A=2X>+6X>+X+8

(2) 2x3 +x+2—-A=-5x*+3x—7

(2x} +Xx+2)— A=(-5x*+3x-7)

—A=(-5*+3x-7)-(2x* +x+2)
~A=-5x"+3x-7-2x>—x-2
~A=-2x"-5X* +3x—Xx—-7-2
~A=-2x"-5x"+(B3-Dx+(-7-2)
—A=-2x>-5%" + 2x + (-9)
~A=-2x>-5x*+2x-9
A=2x>+5x* —2x+9 -
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(1) A=2C+6X°+x+8 (2) A=2x>+5x*—2x+9
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(1) 3x* =x+1+B=-5x"-9x-3
(2) —X*+3x*—4-B=-2x>-5x*-7
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(a+b)’ =a’ +2ab+b’
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(a—b) =a* —2ab+ b’
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